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All questions are compulsory.

WA HE 1 R 8 q Jfeery ITE WA ¥ | ylE U W 1 3% aifed
Question Nos. 1 to 8 are very sMort answer type questions. Each
question carries | mark.

U HHI® 9 A 12 T Y ST W § 1 T qF ¥ W 3 3 ayEfea €
(I A Ffuwaa v T 50 =t })

Question Nos. 9 to 12 are short answer type questions. Each question
carries 3 marks. (Maximum word-limit of answer is 50 words)

e FHiw 13 | 18 7% A Ine weA § | WS weA ¥ Hiafie faswmew ¥
TAF T W 4 3% AEfea ¥ (IW &) Afyran wg-dw 75 vt )
Question Nos. 13 to 18 are long answer type questions. Each question
has internal choice. Each question carries 4 marks. (Maximum word-
limit of answer is "5 words)

e HHIF 19 Q 24 7 AW ITa v ¥ 1 v@F wva W viafiE faweq @
TAF T W o 3w JEIEA ¥ | (I *) aifywan wsz-whwr 250 v )
Question Nos. 19 to 24 are long answer type questions. Each question
has internal choice. Fach question carries 6 marks. (Maximum word-
limit of answer is 3 words)
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qeA-10

T 1-11

[2]
Fo1 3w |4 @ s } 2 (1]
What does total utility mean?
ol @ T wAw ot Afert fFR T a arm 22 1
What type of market is an independent entry and exit of firms?
siferm e Frd e &2 (1]
What is called final goods?
gaho fafam an 3 2 (1]
What is gross investment?
‘oA ¥, N gz w0 A ofoam fewet @ 2 (1]
“Money is what money does.” Whose definition is this?
TEHER F TF F ©9 d -9 9 &4 Fa ¢ ? (1]
Which bank acts as a banker of the government?

e e % Tug fRe YR 1 a9 S S ¢ 2 (1]

What type of budget is prepared during economic depression?

Hferg s fHY #ed €72 (1]
What is called a balanced budget?

el 9 1 @ fadard fafae (3]
Write three characteristics of indifference curve.
“H’@fﬂ‘?ﬁ@fﬂﬁlﬁuﬁﬁﬁWﬁuﬁ@ﬂﬂ%l"mml 3]

«product discrimination is the main characteristic of monopolistic
competition.” Prove.
e T yare § TR T WA (g A | [1+141=3]

Distinguish between stock and flow (any three).

e
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[3]
was ¥ o fafae (1 @ [1+1+1=3]

Write merits of direct taxes (any rhree).

o = vd Yol =g § S fafae (1 /) | [1+1+1+1=4]
Write the differences between revenue cxpenditure and capital

expenditure (any four).

3rerar
OR

T2 & U ) faaf@e |

Write the components of budget.

T % A qe ) ferfay (9 5 | [1+1+1+1=4]
Write the main elements of budget (any four).

rerar
OR
T & Ieva fafau (+¢ a7m) |

Write the objectives of budget (any Jour).

ST R T il g A ofe feafay (#¢ wr) | [1+1+1+1=4]
Write the differences between standard money and token money
(any four).

srerar

OR

TF 3= a1 e % v fefan (1 wpy) |

Write the merits of a good money material (any four).

WA # Tt o it o A o ool wm wfesat #-a W # 2
fatae (w4 =) | [1+1+1+1=4]

What are the main difficulties measuring national income in India?
Write (any Sfour).
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gyT-19

[4]

Hqr
OR

waﬁwﬁmmﬁqﬁs%ﬁmwﬁm(aﬁéml

Suggest some measures (0 improve national income 1n India

(any four).
TG F YR T AR F AN FHR FqI¢ [1+1+1+1=4]

Describe four types of market based on time.

Hyar
OR

qof wferifirar S 1 W faRivand Sas
Describe four characteristics of the full competitive market.

IeqTET GwTEA 9% F wran fafae (#1890 | [1+1+1+1=4]

Write the assumptions of production possibility curve (any four).

Jrerar
OR

e wE gufie sefare § 3w fafae (F1 FR) |
Write the differences between Micro and Macro economics (any four).

mmmm@mwﬂwml (6]

Write the differences between Monopolistic competition and Oligopoly.

Far
OR

o e i e wfrfrn # ai frfie (@)1

on between Perfect competition and Imperfect

[1+14+141+]1+1=6]

Write the distincti

competition (any siv).
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[5]
fiord ¥ gry wr@ fraaw wt Gfaa) ) =ren st (38 7 |
[1+1+1+1+]1+]1=6]

Explain the credit control practices by the Reserve Bank (any six).

Haar
OR

fiod % e sfrem & 59 &F & &9 9 w1l #1 =men FHfaw
(% B72) |

Explain the functions of the Reserve Bank of India as a Central

Bank (any six).

TH IR € Fqedll w1 9 w0 ¥ fo 3w &) S agsi =

HI AN T 4 qAT S | IUMSA H T T 20 ¥ |

(i) o1 X@ % |t # fafay

(i) S afe st gegof ot oy 1 W =g R 2, A A% SHH fena
A 1 ST S FHAE 2

(iii) Iaviaa afg srot gogul o oRg 2 W g w2, Y 9 I Ra
AT F1 IIUNT T Thall & 2

(iv) ST @1 H waura ¥4 8 2 [142+2+1=6]

A consumer is willing to consume two goods. Both items are priced

at T 4 and ¥ 5 respectively. The income of the consumer is Z 20.

(/)  Write the equation of the budget line.

(ii) If the consumer spends his entire income on item 1, how much
quantity can he consume”

(iii) If the consumer spends his entire income on item 2, how much
quantity can he consume”

(iv) What is the slope of the budget line?
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[6]
arerar

OR

uﬁa@zﬁaﬂnﬂﬁﬁwﬂﬁﬁmawmwﬁﬁmﬂﬁﬁ
wﬁwm’rmﬁaﬁéqﬁﬁ?ﬁqﬁﬁﬁw?@ﬁwqﬁaﬁ?m? [6]

If the price of item 2 falls by one rupee, but there is no change in the
price of item 1 and the income of the consumer, then what will be the

change in the budget line?

firer gEiell F SMUR W Ehel WY I a1 Fehel TKTA ST A

I ; ' [6]
.. e FTRA(FASH)

() YEUAGEIUR - 45,000

(i) TaumER =3 - 7,000

(iii) 3T ~ 12,000

(iv) Trafa - 10,000

Find out Gross Domestic Product and Gross National Product on the

basis of the following information :

SI.No. Items Rs. (in Crore)
(/) Net national product - 45,000
(i) Depreciation expenditure - 7,000
(iii) Import ~ 12,000
(iv) Export N 10,000
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trAferfraq site) @ ana fafu qu oy fafu g @@a T I 9
aﬁﬁ{mmﬁ%ﬂmﬁmfaﬁéﬁﬁfﬁm’ﬁmﬁﬁwm

g

.. L

(i) wRE I

(if) HEATTE

(iii)

(iv) I faeel faw
(v) =

(vi) T&a T e
(vii) =TS

(viii) T

Find out the Gross National Product by Income and Expenditure

Methods and prove that results are same by both the methods :

S1.No. Items

(/) Domestic consumption

(ify Depreciation

(iii) Profit

171
Srerar
OR

FOA (HATH)
60,000
800
18,000
4,000
45,000

16,800
9,000
8,000

Rs. (in Crore)

(iv) Net investment from abroad -

(v) Wages

(vi) Gross domestic investment

(vii) Interest

(viii) Rent

60,000
800
18,000
4,000
45,000
16,800
9,000
8,000
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ot Rt & e Frufon @ Fretifn fagaii & sifa e Ffo : [2+2+2-6)
(37) I &+t "5

(7) g A R
(&) =% #1 °in 3 7 & deqerm

Explain the price determination in the perfect competition under the
following heads :

(@) Demand of goods
(b) Supply of goods
(c)  Equilibrium of supply and demand of goods

3ryar
OR

qi ¥ ufted™ ® e T W F41 YA gsa & 2 Wa@ifas g SHeis | [6]
What is the effect of shift in demand on equilibrium price? Explain

with diagram.

" F fram & e fafae (98 7)) [1+1+]1+1+1+1=6]

Write exceptions of the rule of demand (any six).

3rerar
OR

qin & Hmd AG F T FE G wReE H fafae (S8 7)) |

Write down the factors affecting price elasticity of demand (any six).
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